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QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Taa vy # fm ow faedt 7 @ ww R
(?) & TUET W A ael FEA H AT

ANV

6
3
8

|00 |©|

—_
[0}
-

7

Options:

1)21

2) 20

3)23

4) 22

Correct Answer: 21

QID: 102 -

How many triangles are there in the given figure?

& o s 3 feee Rag ¥

Options:

1)3

2)4

3)5

4)6

Correct Answer: 4

QID: 103 -

the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, etc., and ‘M’ can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “COULD”.

T QG had Uh HEAT-UIAE N1 GRfr g, Sk e Reeur A @
ot e 3t fgar aar ¥ faweul # QU v war-weE Harl & oY aoif
grT gofw e ¥ Shar fn Bu amw o) eyt §) aneyel & waew 3R
ufeh fY wear 0 @ 4 ¥ AR megEu A 5 A 91 39 YRl B TH IHER
@ ugel sEh ufh AR aig F waEer dwar g R r S oadwar ¥
3ETR0T & fow ‘AT 24, 95, 31T GRT GRAAT ST THAT ¥ AT M A 11,
66, 3fe gRT gfar o whar ¥ SW atE @ UM um #; Ru g
“COULD” & faw deg @ ugaear &1

Matrix-1 Matrix-ll

3regg- 3rg-ll
0|1]12(3[4 5(6|7]|8|9
0| T|C|W|G|K 5|Z|0|D|C|X
1IKIM[O|P|S 6 |GIM|{N|H|V
2|1 |[P|IX|K[A T1IEJO]YIK]T
3|F|(H|J]|L|N 8|D|F|W|L|R
4|A|R|Q|V|X 9|A|E|(U|N|P

Options:

1) 58, 12, 98, 86, 85
2) 01, 56, 97, 33, 57
3) 58, 76, 88, 88, 24
4) 02, 02, 98, 88, 00
Correct Answer: 01, 56, 97, 33, 57

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& ¢ 3R gfadl # ¥ 3§ TR A & gET
orm & vy ampfa BT &

-

Options:
/
1)
2)
3)
—
4)

Correct Answer:



http://www.a-pdf.com/?ms-demo

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

HT T IR APA T Jpd & ufaww & @
FLefr?

~
[

Options:

1)

2)

3)

4)
Correct Answer:

=
=
QID : 106 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy T IUUT @ AB @ W I@T AT, & & TS
TR gl # @ dia o Fpfa ua dEpla &
Té ufafaeaT gefe

R

W 77775

Options:

1)

2)

RN

3)

4)§1\

Correct Answer:

)
A

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

T & oy wpladl F REW JgEUR FEE @
AT D JAT Weld & d1g Ig F 39 e
s fers e

™ <

Options:

1)

2)

3)

RIS AR
X | DX || [[RR]| |[[YY

A

4)
Correct Answer:

N®7

KRN
N®7
KRN

QID : 108 - What will come in place of question mark
(?) in the given equation?

43?29?23?211?3 =137

feT 7T FgHERoT # g FesT (?) & TAH W FAT
3TTaM?

43?29?23?211?3 =137

Options:

1)+, -, +and x

+, = & dAT X

2) X, +,—and +

X, &, —ddr +



3)+, x,—and +

+, X, —=ddar +

4) x, +, +and —

X, &, + dUr -

Correct Answer: %, +, + and —
X, &, + dUr -

X, &, + dUr -

QID:109-1f14@ 13 @9 =91314and5@ 15 @
11 = 11155,then 6 @12 @3 = ?

I 14@13@9=913147T5@15@ 11 =
111558, 76 @12@3 =?

Options:

1) 1236

2) 3126

3) 6312

4) 3612
Correct Answer: 3126

QID : 110 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Raid

2. Rain

3. Ring

4. Race

5. Range

fAFITIT @ ersel 1 eIl & 3T dlel HH F AR
ford|

1. Raid

2. Rain

3. Ring

4. Race

5. Range

Options:

1) 41253

2) 41235

3) 42153

4) 42135

Correct Answer: 41253

QID : 111 - In the following question, select the missing
number from the given series.

59,17,?,45, 65

fArfaf@d we # fouv v fahedt & & ofcd 3 A
T

5/9,17,?,45, 65

Options:

1) 28

2) 29

3) 27

4) 26

Correct Answer: 29

QID : 112 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

NT, TN, PR, RP, 0Q, ?

T 3TshA T o B, f9wd & ve ug o g1 T
a0 fAhedt A § 98 T Ahed AT, ST ITshA H
QR

NT, TN, PR, RP, OQ, ?

Options:

1) OP

2) QR

3) Q0

4) NO

Correct Answer: QO

QID : 113 - In the following question, select the odd
word from the given alternatives.

rAfaf@a a2t # U 710 Adedl # & fAve =g &t
gfav|
Options:

1) Ball

g

2) Bat

el

3) Stumps
fonforar

4) Goalkeeper
CICETEY

Correct Answer: Goalkeeper

CIGEISEY
CIGEIEY

QID : 114 - In the following question, select the odd
number from the given alternatives.

eAfaf@d ueT & feu arv RAkedt & & fawer e
@I gfav|

Options:

1) 169

2) 121

3) 289

4) 258

Correct Answer: 258

QID : 115 - In the following question, select the odd
letters from the given alternatives.

Arfaf@d ueaT & fou v JFeredt & ¥ fQww 3eRT
@l giaw|

Options:

1) fr

2) bn

3)cp

4) dp

Correct Answer: cp

QID : 116 - Identify the diagram that best represents
the relationship among the given classes.

Females, Mother, Director

g8 NG YT S A o 1w gt & & & Heer Hr
T ATAOT I B

AfgeT, AT, A&aF



Options:

3)

SECE

4)
Correct Answer:

819

QID : 117 - In the following question, select the related
word pair from the given alternatives.
Distance : Kilometre: :?:?

frafafad aea &7 U 71w fawedt & & Gafta oeg
gIA H gfAv|

o reefleT 1 22
Options:

1) Writer : Pen

qGH : Feld

2) Time : Hours

AT : gUS

3) Time : Metre

T X

4) Wood : Weight

Tl - AR

Correct Answer: Time : Hours
AT : gUS

AT : gUS

QID : 118 - In the following question, select the related
number from the given alternatives.

11:121::20:?

farafaf@d oo & u 71w fawedt & @ @efta wear
& gAT|

11:121::20:?

Options:

1) 441

2) 400

3) 289

4) 200

Correct Answer: 400

QID : 119 - In the following question, select the related
letters from the given alternatives.
AC:DG::MQ:?

AT ET 927 # feu 71w fQewedt & @ gafoa iRt
Fr aﬁtro |

AC:DG::MQ:?

Options:

1) MR

2) PU

3) PS

4) PR

Correct Answer: PU

QID : 120 - In the following question, select the word
which cannot be formed using the letters of the given
word.

REPULSIVE

fAEfaf@d fasedt & @ g8 wse glAv S fow v
eG b IERT FI TANRT dch Aal SoIAT ST HhdT|

REPULSIVE

Options:

1) PULSE

2) USED

3) LIVE

4) SURE

Correct Answer: USED

QID : 121 - In a row of 40 students, A is 13" from left
end. What is his place from the right end?

40 ot fT e 9feg 7, A R 3R ¥ 13-ar &1 griY
3R F 3T TAT T 87

Options:

1) 27

2) 28

3) 29

4) 30

Correct Answer: 28

QID : 122 - If the ratio of the present ages of P and Q is
3 : 5 and the sum of their ages 4 years ago was 64, then
what was the ratio of their ages 4 years ago?

I P AUr Q T ITAIT 3G T Ul 3 : 58 TqUT 4
av qd Gt dr I F AT 64 AT, A 43§ qF 3T
3T AT 3IaTd AT AT?

Options:

1)23:41

2)27:49

3)33:52

4)41:73

Correct Answer: 23 : 41

QID : 123 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

I. Some C are D.

II. Some B are C.

Conclusions:

I. Some D are C.

II. No B is D.



A fOU 9T geoT # FT HYUA 3R 3Tk 916 3o HYeAT
W IR Fo ey U 1w g, grenife a1 a3
AT Tt A fReaaar g Tondt g1 Teft fasey 9¢ 3R
R R FT & U v «ia ¥ Ay, Rw v
FYAT & YR W GiFawara gl

hYeT:

1.5 C DRl

II. 5 B, CEl

fasay:

I.%& D, CEl

II. 5 B, D 77ET gl

Options:

1) Only conclusion (I) follows.

shaer fFsay (1) T8 &

2) Only conclusion (II) follows.

oo s (I1) |8 2

3) Both conclusion follow.

alt & forsehy @ g

4) Neither conclusion (I) nor conclusion (II) follows.
T ar sy (1) 7 & sy (1) Ter &1
Correct Answer: Only conclusion (I) follows.

ool oSy (1) 78 2
art g sy @@r gl

QID : 124 - In a certain code language, "MIND" is
written as "PLQG". How is "LAKE" written in that code
language?

T fafAse #g 9T &, "MIND" & "PLQG" for@r Srar

g1 39 As 9TWT F "LAKE" & fFg yeR for@r sem?
Options:

1) ODNH

2) ODMH

3) NDMG

4) OCNH

Correct Answer: ODNH

QID : 125 - In a certain code language, "FOX" is
written as "50" and "BOX" is written as "46". How
is "FAX" written in that code language?

e fAfAse s s r

#H, "FOX" &I "50" 2T "BOX" &I "46" for@r Arar gl
30 HIs AW H "FAX" & g gaR for@r sreem?
Options:

1) 38

2) 34

3) 36

4) 32

Correct Answer: 36

QID : 126 - What is the value of (a> x b*?) x (@® x b’
18

)?
(@ x b') x (a'® x b'®) &7 AT FAT §?

Options:
1) a%°®

2) a®b*
3) a12b6
4) a%/b
Correct Answer: a®/b®

QID : 127 - Which of the following nhumber is
completely divisible by 20?
fArfaf@d 7 & wila @ dear 20 & qoia: Fanfaa 82
Options:

1) 24570

2) 34580

3) 33410

4) 444430

Correct Answer: 34580

QID : 128 - If 543 x 545 x 546 is divided by 6, then
what will be the remainder?

e 543 x 545 x 546, 6 ¥ fenfaa fFar S, ar AvhoT
FIT gIem?

Options:

1)3

2)0

3)5

4)1

Correct Answer: 0

QID : 129 - What is the value of (V5 + 2)+(V5 — 2)?
(V5 + 2)+(V5 — 2) FT A T 8?2

Options:

1) 9 + 45

2) 9 -4v5

3)7 + 45

4)9 + 2v/5

Correct Answer: 9 + 4V/5

QID : 130 - What is the value of 31 + 32 + ..... 50?
31+ 32+ ..... 50 &7 AT FT 82

Options:

1) 575

2) 465

3) 1275

4) 810

Correct Answer: 810

QID : 131 - Which of the following is greatest number?
frafaf@d & & sl & g gew 99 &2

Options:

1) ¥

2) 3

3) 3"

a) %

Correct Answer:

a¥

3+

QID : 132 - Two pipes P and Q can fill the tank alone in

60 and 90 hours respectively. If they are opened
together, then in how many hours will the tank be filled?



&Y UIST P gAT Q Ueh ThT Y A 60 dUT 90 € H
T Toha &1 I ST grsul 7 T @y @ foar I,
ar S frde g # #T STei?

Options:

1) 35

2) 32

3) 36

4) 30

Correct Answer: 36

QID : 133 - Pipe A can fill a tank in 20 hours and pipe B
can fill the same tank in 24 hours. Pipe C can empty the
same full tank in 12 hours. If all the pipes are opened
together, then what portion of the tank will be filled after
12 hours?

UIST A U T FT 20 €S FH T FhaT § oAl 95T B
3T THT T 24 G F #R Tl §1 37 T g H A
9qeq C, 12 §¢ H @rell & TohdT ¢l Al Tefr argar &t
T 1T Wil a1 S, ar 12 ¢ &1 &hr &7 fohdar
REaT X SRem?

Options:

1) 1/10

2) 1/5

3) 1/15

4) 9/11

Correct Answer: 1/10

QID : 134 - What is the area (in cm?) of an equilateral
triangle whose side is 16 cm?

ww-m'g'ﬁmao fSrehr o 16 QA 8, 1 &Tthor
@2 ) T {2

Options:

1) 60V3

2) 643

3) 128

4) 60

Correct Answer: 64v/3

QID : 135 - A shop-keeper offers 30% discount on bags
which have been marked 60% above the cost price.
Rahul bought the bag for Rs 672. What was the cost
price (in Rs) of the bag?

HT Hed T 60% 31T 3ifhd Hed arel ¥l I TR
gHIGR 30% T FT &aT &l Wger o 672 F H Aa
TeT| Aol T HT Hed (3 H) T A?

Options:

1) 580

2) 600

3) 550

4) 610

Correct Answer: 600

QID : 136 - A merchant purchases a watch for Rs 540
and fixes its marked price in such a way that after
allowing a discount of 10%, he earns a profit of 35%.
What is the marked price (in Rs) of the watch?

T SAURY 540 T & UF g3 GGAT § aUT SHHT
3ifehd Hed 30 avE AUIRa #ar & 6 10% #r ge
¥ & geard off 39 35% T T WIed BT &1 HEr T
Hihd Hed (T H) &1 82

Options:

1) 790

2) 810

3) 750

4) 840
Correct Answer: 810

QID : 137 - The ratio of two numbers is 7 : 12. If their
difference is 60, then what is the smallest number?

ar FEATHT &1 eI 7 : 12 §1 A 3o AT 60 &, A
Iy BIET J&IT FT 82

Options:

1) 144

2) 84

3) 96

4) 196

Correct Answer: 84

QID : 138 - Rs 2160 is divided among A, B and C is the
ratio 2 : 3 : 5 respectively. What is the difference (in Rs)
between the shares of A and B?

2160 & Y hAM: A, BAAT CH 2:3: 5% 3urd A
dfeT ST g1 AT B el & 3R (% H) Far 82
Options:

1) 216

2) 108

3) 154

4) 312

Correct Answer: 216

QID : 139 - The average of 10 numbers is 9.5. If a
number 5 is removed, then what will be the new
average?

10 F&AT3tt Fr 3 ad 9.5 g1 I T AT 5 &l gerdm
S, ar 3 3iea gEar #4191 geie

Options:

1)9.75

2) 10

3) 10.25

4)9

Correct Answer: 10

QID : 140 - An article is sold at a profit of 30%. If the
selling price is doubled, then what will be the profit
percentage?

Teh & HT 30% & o7 I 9= S gl IS fasma

Hod ST oY fer ST, Al SeT icierd T gram?
Options:

1) 30

2) 130

3) 160

4) 100

Correct Answer: 160



QID : 141 - A man sold 400 chairs and had a gain equal
to selling price of 50 chairs. What is his profit
percentage?

T =gfFd 400 HREAT AT dwa 50 HIRAGT & o
T & S oIS HATAT §| SR o1 FfcrRrd & g2
Options:

1) 14.28

2) 25

3) 11.11

4) 10

Correct Answer: 14.28

QID : 142 - 1000 is first increased by 10% and then it is
decreased by 30%. What is the final value?

1000 T ggel 10% & Sorar Ir=Ar gar T 33 30% &
TR 7| 3fAH Ao Fr §?

Options:

1) 850

2) 770

3) 820

4) 760

Correct Answer: 770

QID : 143 - Out of the total bags, 30% of bags are
green coloured. 30% of remaining bags are red coloured.
40% of remaining bags are yellow coloured. The
remaining 1176 bags are blue coloured. How many total
bags are there?

o Yol &7 @ 30 9faerd JT X W & &1 AV Yot H @
30% oel T & gl AW et H T 40% drer W1 & g
AV 1176 & oAl TT & &1 Fel oty ¥ 2

Options:

1) 3000

2) 4000

3) 5000

4) 6000
Correct Answer: 4000

QID : 144 - The speed of a boat in still water is 8
km/hr. It covers a distance of 40 km upstream in 8
hours. What is the speed (in km/hr) of the stream?

T ST H TH A1 &1 I1fa 8 fh.#r./ger §1 98 ar’T &
fcierer 40 for.al. 1 g¥f 8 € & o T &1 UNT H
afa (fr.#r./aer &) Far &2

Options:

1)2

2)3

3)4

4) 1.5

Correct Answer: 3

QID : 145 - A 400 metres long train crosses a bridge
600 metres long in 50 seconds. What is speed (in km/hr)
of the train?

TS 400 HIeY Fe Th YeRNS! Th 600 HieX o Iel
H IR T H 50 Jhvs oIl g1 Te@mar & arfa
(.5 fearer ) @/ar 82

Options:

1)75
2)72
3) 74
4) 78
Correct Answer: 72

QID : 146 - A sum becomes 4 times in 2 years at
compound interest. In how many years the same sum
will became 16 times?

T MY Tshgfg ST T aX & 2 st 7 4 T g S
g fohcer ast # a8l Y=IfAr 16 I« g1 e
Options:

1)3

2)4

3)2

4)1

Correct Answer: 4

QID: 147 -

The pie chart given below shows the number of
students who play five sports like Hockey, Tennis,
Cricket, Golf and Polo. The total number of students
is 1080.

i Ry o g Ry & ofw Qe I F§h, A
firdhe, aiie® T Otel @ordd arel STET B &I A
ZIT T ¥ ST Y Hor TEAT 1080 ¥

Polo/
Hockey/
3 qreir, 36°
grehr, 90° ‘
Golf/
Mo, 54°
Tennis /w&icket/
fag, 108° e, 72°

What is the average number of students playing Tennis
and Cricket?

AT aur fhae Woar arel oAl Y 3iwa g&ar =24

8?

Options:

1) 280

2) 270

3) 240

4) 360

Correct Answer: 270

QID: 148 -



The pie chart given below shows the number of
students who play five sports like Hockey, Tennis,
Cricket, Golf and Polo. The total number of students
is 1080.

= R o g Ry & ofw Q& I FhH, 2w,
frdhe, e JUT Urel Wered arel SIS & §&AT &l
gATaT T ¥ ST A g wEar 1080 ¥

Polo/
Hockey/
5 grar, 36°
grehr, 90° .
Golf/
Mo, 54°
Tennis /wCﬁcket/
éﬁ-\q-, 108° a‘m= 72°

What is the difference between the number of students
who play Tennis and those who play Polo?

AT Woe arel gr 9l Wola Tl BT hT J&AT &
AT FAT 3T g2

Options:

1) 114

2) 288

3) 180

4) 216

Correct Answer: 216

QID: 149 -

The pie chart given below shows the number of
students who play five sports like Hockey, Tennis,
Cricket, Golf and Polo. The total number of students
is 1080.

@ o oo @ R # uiw @t S g,
foFehe, 7ot JUT Urell Weolel dTel ST & TE&AT &l
g T ¥ ST f For TEAT 1080 ¥

Polo/
Hockey /
3 drer, 36°
grehr, 90° i
Golf/
Mo, 54°
Tennis /waicket/
2faw, 108° e, 72°

In which of the following group of sports, the sum of the
number of students who play first 2 groups is equal to
that of the third group?

Prfafed aet ¥ fry T &, T 2 Tt A Qe
arel BTl T HE&AT HT AT N HAG F SN g2
Options:

1) Cricket, Polo, Hockey

forehe, dTall, giehT

2) Hockey, Tennis, Golf

g, cfaw, Mew

3) Cricket, Polo, Tennis

fohohe, relt, cfa

4) Hockey, Cricket, Tennis

giehT, Topehe, el

Correct Answer: Cricket, Polo, Tennis
fohohe, Otel!, cfa

fohohe, rel!, cfa

QID: 150 -

The pie chart given below shows the number of
students who play five sports like Hockey, Tennis,
Cricket, Golf and Polo. The total number of students
is 1080.

& Ro o g@ Ry # ofg @« @ g 2w
fRhe, Te® JAT Urell Weld el ST A T&AT &l
g I &1 o i For TEAT 1080 ¥

Polo/
Hockey/
5 grelt, 36°
g, 90° g
Golf/
e, 54°
Tennis /wcmket/
f=, 108° e, 72°

What is the total number of students who play either
Hockey and Cricket?

glehl AT Tohehe Wolel aTel BT T ol TEAT FT 872
Options:

1) 270

2) 216

3) 576

4) 486

Correct Answer: 486

QID : 151 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The former first lady designed (1)/ it herself as a
weekend (2)/ retreat away from White House. (3)/ No
error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3

QID : 152 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.
Traditionally, fuel prices were determined (1)/ on a cost-
plus basis, which led domestic prices (2)/ to fall at line
with the cost of inputs like crude oil. (3)/ No error (4)



Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

QID : 153 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

My father tomorrow.

Options:

1) has arriving

2) is arriving

3) had arrived

4) was arriving

Correct Answer: is arriving

QID : 154 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

She has already the floor.

Options:

1) clean

2) cleaning

3) been clean

4) cleaned

Correct Answer: cleaned

QID : 155 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Profane

Options:

1) Coarse

2) Sweet

3) Moral

4) Dejected

Correct Answer: Coarse

QID : 156 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Lethal

Options:

1) Sharp

2) Malignant

3) Wholesome

4) Kind

Correct Answer: Malignant

QID : 157 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Respite

Options:

1) Hiatus

2) Continuous

3) Thirst

4) Instead

Correct Answer: Hiatus

QID : 158 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Acquitted

Options:

1) Blame

2) Deliver

3) Excuse

4) Relieve

Correct Answer: Blame

QID : 159 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Compulsory

Options:

1) Binding

2) Necessary

3) Optional

4) Forced

Correct Answer: Optional

QID : 160 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Bridle

Options:

1) Release

2) Control

3) Leash

4) Curb

Correct Answer: Release

QID : 161 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Hail from

Options:

1) Out of the game

2) Very confident

3) To come from

4) Calm and composed

Correct Answer: To come from

QID : 162 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

A shot in the dark

Options:

1) An attempt that is not expected to succeed or very
little chance of working

2) Born in poor family

3) To maintain one's opinion

4) To delay a little longer

Correct Answer: An attempt that is not expected to
succeed or very little chance of working

QID : 163 - Improve the bracketed part of the
sentence.

This slide (unto) political regression is particularly
troubling, as the country is still recovering from the
memory of the genocide



Options:

1) Into

2) Onto

3) Upto

4) No improvement
Correct Answer: Into

QID : 164 - Improve the bracketed part of the
sentence.

In recent years his autocratic tendencies have
become (increasing) more pronounced.
Options:

1) Increased

2) Increasingly

3) Increase

4) No improvement

Correct Answer: Increasingly

QID : 165 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

A person who writes for newspapers and
magazines

Options:

1) Journalist

2) Activist

3) Alchemist

4) Biologist

Correct Answer: Journalist

QID : 166 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

Found all over the world

Options:

1) Universal

2) Appraisal

3) Colossal

4) dispersal

Correct Answer: Universal

QID : 167 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Fabulous

2) Faebulous

3) Fabulus

4) Fabeulous

Correct Answer: Fabulous

QID : 168 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Geometry

2) Gemetry

3) Goemetry

4) Geometrey

Correct Answer: Geometry

QID : 169 - Rearrange the parts of the sentence in
correct order.

The next morning

P: it was snowing

Q: we woke up

R: and found that
Options:

1) QRP

2) PRQ

3) RPQ

4) RQP

Correct Answer: QRP

QID : 170 - Rearrange the parts of the sentence in
correct order.

Bachendri pal

P: Indian woman to

Q: reach the peak of Mt. Everest
R: became the first

Options:

1) PQR

2) RPQ

3) QRP

4) QPR

Correct Answer: RPQ

QID : 171 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

Internet has revolutionized the living style and working

style of the being. It has reduced a man's effort

and time thus very beneficial to all for gaining knowledge

as well as income at less input. It has ability to
information within no time at the doorstep.

Basically internet is a network of networks which

connects various computers to handle from one place.

Now a day, internet has spread its at every nook

and corner all over the world. Accessing internet requires

a telephone line, a computer and a

working style of the being.

Options:

1) human

2) non-living

3) original

4) real

Correct Answer: human

QID : 172 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

Internet has revolutionized the living style and working

style of the being. It has reduced a man's effort

and time thus very beneficial to all for gaining knowledge

as well as income at less input. It has ability to
information within no time at the doorstep.

Basically internet is a network of networks which

connects various computers to handle from one place.

Now a day, internet has spread its at every nook

and corner all over the world. Accessing internet requires

a telephone line, a computer and a

as well as income

Options:

1) decreasing




2) increasing

3) abating

4) relating

Correct Answer: increasing

QID : 173 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

Internet has revolutionized the living style and working

style of the being. It has reduced a man's effort

and time thus very beneficial to all for gaining knowledge

as well as income at less input. It has ability to
information within no time at the doorstep.

Basically internet is a network of networks which

connects various computers to handle from one place.

Now a day, internet has spread its at every nook

and corner all over the world. Accessing internet requires

a telephone line, a computer and a

ability to information

Options:

1) curtail

2) delete

3) provide

4) erase

Correct Answer: provide

QID : 174 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

Internet has revolutionized the living style and working

style of the being. It has reduced a man's effort

and time thus very beneficial to all for gaining knowledge

as well as income at less input. It has ability to
information within no time at the doorstep.

Basically internet is a network of networks which

connects various computers to handle from one place.

Now a day, internet has spread its at every nook

and corner all over the world. Accessing internet requires

a telephone line, a computer and a

its at every nook

Options:

1) removes

2) emotion

3) leaves

4) effects

Correct Answer: effects

QID : 175 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
Internet has revolutionized the living style and working
style of the being. It has reduced a man's effort
and time thus very beneficial to all for gaining knowledge
as well as income at less input. It has ability to
information within no time at the doorstep.
Basically internet is a network of networks which
connects various computers to handle from one place.
Now a day, internet has spread its at every nook
and corner all over the world. Accessing internet requires
a telephone line, a computer and a

a computer and a
Options:

1) modern

2) rode

3) branches

4) modem

Correct Answer: modem

QID : 176 - Every production is organised by combining
land, labour, physical and human capital which are
known as
I 3caTgel aﬁr HH, AR JUT AT Goll &
AT & gaRT ARSI fRar Siar & o %
& F ST ST B
Options:
1) Factors of production
3cqIes] & SR
2) Organisations
st
3) Economic activities
snfdw aifafafear
4) Industries
3Tt
Correct Answer: Factors of production
3cqIesT & SR

e aifafafear

QID : 177 - Market activities in economy involve

_ dfFafaa g

3egaryr # IR afafafaat &
Options:

1) production for self-consumption
IcA-GId & T 3curget

2) activities performed for charity

AT & o e av afafafear

3) activities performed for pay or profit
et a1 o & forw fre arv sifafafRar

4) none of these
STH A P 8T
Correct Answer: activities performed for pay or profit

ddeT IT o1 & fav few v aifafafer
ddeT IT o1 & fav few v afafafear

QID : 178 - Who among the following has the power to
dissolve Lok Sabha?

Aol & & Fas I lIhddT Sl 9T FlA T
ufFad 82

Options:

1) President

Tsgafa

2) Prime Minister
TETAHAT

3) Chief Justice of India
HRA & T e

4) Judge of Supreme Court




AT A= & «ararefer
Correct Answer: President

Tseafa

<

Tseafa

<

QID : 179 - Part IV A of the Indian Constitution
describes about

HRAT FaYTeT T H9T IV A
3ol T g

Options:

1) Fundametal Duties

HA &l

2) Fundametal Rights

Al PR

3) Supreme Court

Hafead AT

4) Election Commission

AT JTNT

Correct Answer: Fundametal Duties
HA &

HA &l

F AN #H

QID : 180 - In Indus valley Civilization, site Dholovira,
has been located in which state of India?

Ay oy @ & Glerd T, 9RA & fhd ToT #
e g2

Options:

1) Rajasthan

ISTETT

2) Punjab

i)

3) Gujrat (Rann of Kutch)

IS (HTS I I00)

4) Haryana

ghamom

Correct Answer: Gujrat (Rann of Kutch)
TORI (FTS T T07)

IS (HTS I I00)

QID : 181 - In which year did Indian National Congress
reunited after the famous Surat split?

W A & ag 58 a¥ & ARG TSET Hd
Tel: U gl oaTg e

Options:

1) 1910

2) 1916

3) 1921

4) 1923

Correct Answer: 1916

QID : 182 - Our solar system is a part of which galaxy?
EHART ARASH fohd 3MHIREET &1 f7ear g2

Options:

1) Andromeda

TUSAET

2) Triangulum

~ G_J

3) Milky Way

fAedhr o

4) Bode's

CIE]

Correct Answer: Milky Way
Aedr o

TUSAET

QID : 183 - The Alps Mountains are which type of
mountains?

Yoog udd fRE 9HR & gdd &7
Options:

1) Old Fold Mountains

N aferd gdd

2) Young Fold Mountains

gar aferd gda

3) Block Mountains

Heley gad

4) Volcanic Mountains
SEICICIIER]

Correct Answer: Young Fold Mountains
gar afed gda

N aferd gdd

QID : 184 - What is produced from the pancreas?
AT F FAT 3o gl 872
Options:

1) Insulin

ESIEC

2) Bile

Reg

3) Blood

J&Fd

4) Urine

HT

N

Correct Answer: Insulin

ot
fAred

QID : 185 - Which part of the plant helps in holding the
plant firmly in the soil?

i T Pl AT AT 9 Fr Y A FAC G 8?7
Options:

1) Leaves

afeqar

2) Fruits

Bel

3) Stem

GGl

4) Roots



I
Correct Answer: Roots
5
5

QID : 186 - Percentage of O, present in inhaled air in
human is about

et 3 W A A gar F IURUT O, F AT
SEIEC gl

Options:

1) 21%

2) 78%

3) 41%

4) 2%

Correct Answer: 21%

QID : 187 - The SI unit of pressure is
oeTg Y UH. IS SRS §
Options:

1) newton

e

2) matt

#He

3) pascal

Ur&shel

4) mm of Hg

9RT S A,

Correct Answer: pascal

Ur&shel

#He
QID : 188 - The image formed by a plane mirror is

T A GUUT &anT fAfAa gfafass g gl
Options:

1) real

CIESIEED

2) virtual

3T

3) diminished

BT

4) inverted

3ifer

Correct Answer: virtual

3TeTEY
CEGICED

QID : 189 - What are the two major file systems in
Microsoft Windows?

ASHrEde faEeT A & 9HqE Bige eH F41 82
Options:

1) FAT32 and NTFS

FAT32 d@am NTFS

2) HFS and UFS

HFS a1 UFS

3) XFS and EXT3

XFS @UT EXT3

4) UDF and ZFS

UDF aar ZFS

Correct Answer: FAT32 and NTFS
FAT32 4T NTFS

HFS a1 UFS

QID : 190 - What is the atomic mass of hydrogen?
gISgISleT T TATY] SedAlT FaT §

Options:

11

2)2

3)3

4) 4

Correct Answer: 1

QID : 191 - pH of solution is 7 so it is
e T frue. 7§, o 98 gl
Options:

1) Acidic

IFT

2) Neutral

ECALIC)

3) Basic

&

4) None of these

SoIH A HIg el

Correct Answer: Neutral

ARG
&R

QID : 192 - Forests are examples of
ast & 3EIe0T &

Options:

1) Natural ecosystems

rhfcieh aTRIEAfds o

2) Artificial ecosystems

Fhw aRfeufes @

3) Virtual Environment

JTHTHT aTcATaoT

4) Synthetic Environment

Hefdeh ardreror

Correct Answer: Natural ecosystems
T TR o

T TR o

QID : 193 - What is the tagline for Pradhan Mantri Krishi
Sinchayee Yojana?

A FIY [FaS Ao & AU gar a1 g?
Options:

1) More crop per acre

gfa Tehs S wI

2) More crop per drop

31f8e we gfa 3™



3) More crop per gallon

Aot far 318w waer

4) More produce per drop

Hi&h 3cdres 9fd §a

Correct Answer: More crop per drop

3 wae ufa 9
gfa v 31f0s wad

QID : 194 - Sir C.V Raman is famous for
X o an T & fou gfag 2l
Options:

1) Raman diagram

A IRG

2) Gravitational laws

TecdrehyuT foge

3) Law of Refraction

i F Rgid

4) Raman effect

I{HA AT

Correct Answer: Raman effect

I{HA YHTT

g & feid

QID : 195 - Which among the following sports involves
use of Rackets?

I. Squash

II. Lawn-tennis

III. Badminton

IV. Table-tennis

fArafaf@a gat # @ Hia-ar O # Wreq #1 sEdAT
gl 872

I. TFder

I1. di-¢faE

III. dsfdes

IV. Eaa-efaw
Options:
1)OnlyIand II
hdel Idur 11

2) Only IIT and IV
hdel III T2 IV

3) Only I, IT and III
hdel I, IT qr 111

4) All option are correct
g faseT wer gl

Correct Answer: All option are correct

gt fJereT aer &
gt fJereT aer &

QID : 196 - The Amaravati School of art developed
under the patronage of the Satvahanas of which region?

AV Fell facTTery fre &1 7 |rdager & HeTor
# fowfaa gz 4@
Options:

1) Magadha

HITLT

2) Delhi

feeelr

3) Andhra

3y

4) Sindh

aer

Correct Answer: Andhra
3Ty

HITE

QID : 197 - Maha Chakri Sirindhorn wha has been
conferred with first "World Sanskrit Award" belongs to
which country?

TgA "faed TP [WEPR" ¥ HFATIT HeT Tohl

Rt fea e & forar &2
Options:

1) Pakistan

qrfeREdTet

2) Thailand

Ui

3) Australia

iteeforr

4) China

AT

Correct Answer: Thailand

Ul

Ul

QID : 198 - Who is the author of the book named
"Malgudi Days"?

"HICI[ST SoT" ATHeh s & of@h hisf §?
Options:

1) R.K. Narayan

3R, . ARIOT

2) Jim Corbett

S Fldc

3) Lewis Carroll

T e

4) M. K. Gandhi

UH. . el

Correct Answer: R.K. Narayan

3R. . ARIOT

97 Fide

QID : 199 - Which among the following is the largest
Asia-Pacific military exercise held each year?

farfaf@a & & Sl a1 g 931 Ry g
3 & S uAS ay 3o d fRar Srar g2
Options:

1) Red Flag

offel 8T

2) Cobra Gold



P Mes

3) Indradhanush
‘ Pl

4) Simbex
RiEaECes)

Correct Answer: Cobra Gold

FIRT Mo
FIST Mo

QID : 200 - Which was an operation by Indian Armed
forces to foil the coup in Maldives?

e AT WRAT & T Foil GIRT ATeldd H JEdTIele &l
SATRTH FeT T TR AT?
Options:

1) Operation War

3TOReT ar

2) Operation Muskan

TR FERIA

3) Operation Rahat

TR e

4) Operation Cactus

TR Shaed

Correct Answer: Operation Cactus
TR Shaed

3TOReT ar




